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ﬁ. A certain number of students from school X appeared in am
examination and 20% of students failed. From school Y, 130% more

students than that from school X appeared in the same examination. If

90% of the total numbers of students appeared from both the schools

passed, then what is the percentage of students from school Y who failed

(correct to one decimal place)?
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2. The total number of students in a school is 1400, out of which
35% of the students are girls and the rest are boys. If 80% of the
boys and 90% of the girls passed in an annual examination, then

the percentage of the students who failed is:
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. The average pass percentage of girls in class X examination in

(3
a school is 85% and that of boys is 83%. The average pass
percentage of all boys and girls in class X of that school is 83.7%.

Find the percentage of the number of girls in class x of that

school.

wwﬁaﬂiﬁmnaﬂqﬁ&nﬁammaﬁvamm
85%%ah?a3ﬁm33%%laww$avﬁmnﬁmﬂasﬁ
sy et @ sivd T R 8379 21 x 3w refedt @
@ F1 UfaSrd J1d PO 2

(A)45%  (C)30%  (B) 40% m
< e [o 1




(o] = ' _\

G\ B 4. 35% of the students in a collage are girls and the rest are the
P %5 boys. The total number of students in the collage is 2800. 75% of
2 2 the boys and 85% of the girls passed the final examination. The
percentage of total students who passed the final examination is:
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5. In a class, 60% of the students are girls and the rest are boys.
45% of the girls pass an ex- amination and 40% of the boys
failed. If the number of girls who failed is 66, the number of

boys who passed the examination is:
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6. In an examination; 19% students failed in mathematics and
10% students failed in English. If the total students failed in
both the subjects are 7%. Then what is the total % of passed

students in both subjects ?

U Wia 7 19% faemdf wfora & ok 10% faemf sEistt & srgwitof
g 1 afg wr Renffal & & 7% Rt 3= Rwdt & srgfiof g
g, df 31 fawal # Il g1 o et #t ww=n &1 ufawE
a2 ? -
(A) 22% (B) 68% (C)78% (D) 91%
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7. 72% students opted biology and 44% students opted

mathematics of a class. If every student opted either biology or

math’s and 40 students opted both the subject, then what is the
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total no. of students in class?
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8. In an examination, 48% students in Hindi, 32% students in
History and 20% students in both subjects got failed. If no. of
passed students in the examination were 880. Find no. of

students who took part in examination if there were only 2

subjects in examination?
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9. 64% students opted biology and 54% students opted
mathematics of a class. If every student either opted biology or

mathematics and 54 students opted both subjects, then what is

the total no. of students in the class?

foreit wam & 64% faenfidal J sita fagm qur 54% = o o)
gfe yd® faendf 3 sfta fagm sryar nfve & & o0 3 o0 e fawg
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10. 70% can speak English in a group of students and 65% can
speak Hindi. If 27% of these stu- dents can not speak either of
the language, then what % of students can speak both

language?

Rrenfifal ¥ go e & 70% SN dte wwa § qur 65% R a
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A + 8 - /11. In an examination 70% students passed in english. 80% in
mathematics and 10% failed in both subjects. If 144 students
Do / + o °'/- — (o / =) L!D/ {‘u‘lpassed in both subjects, what is the total no. of students?
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/12. In a survey, it is found that 30% people have cellular phone\
and 75% people have personal computer. If 25% people have
both cellular phone and personal computer. Then find % of
people who have cellular phone or personal computer or have

both?
TP |d | 30% AN & U1 AGeR SATBIH UTdT 74T 3R 75% AN &

U URiTe ST UK 11 fg 25% AR & U AgeR el
3R udfe Frgex ST 81 °f @ &1 98 ufawd fom e o Ager
Soe A a1 e SrgeR a1 Sl 8l ghTI-

(A) 60% (C) 75% (D) 70%
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13. Every person in a group drinks tea or coffee. 72% members
drinks tea whereas 44% members drinks coffee. If there are 192

members who drinks tea and coffee both. Then how many

members are there in the group ?

foeft v & e Wo Ira/SIw! Saxy Wiar g1 I § 72%
Hew 91 Y14 ¢, Safe 44% Waw H1w! 4id 1 afe g A 9a wa

N PIB] g1 Ui aTd 192 93w @, 1 g ¥ fba wawa ¢ 2
P (A) 1000 (C) 1500 (D) 800
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14. 49% soldiers speaks Hindi and 36% speaks english and 15%
speaks both language of a military cantonment. If 900 soldiers

does not speak any of the language, then how many soldiers

speaks only english?
faft Afe st # 49% AfFe R diad § 9uT 36% SRIe

SIed & TUT 15% &1 WTuT dierd 81 3fe 900 | e 3 T wrer el
dierd g, @ daa siisl dia 9 fFaa e 82

(C) 570 (D) 670
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. In an examination 73% of the candidates passed in

quantitative aptitude test, 70% passed in General awareness and

64% passed in both. If 6300 candidates failed in both sub- jects.

The total number of examinees were

fedt oftem & 73% IWCAR AETHS®  ATHSHAT Ut&for

(Pifccled TPlegs 23¢) H IV §U, 70% ATHIRT FTH H 31X 64%
g1 fawat # SIiivf gu 1 afe 6300 Iwficar S+ fawal & e gu o

FA13T P fpa qtandf g 2
(A) 60000 R
(C) 30000 (D) 25000
K N




MATHEMATICS s Pk

16. In an examination, 80% students in Physics, 70% students in
Chemistry got passed whereas 15% students got failed in both
subjects. If no. of students who got passed in both exams is 325,

then find no. of students who took the examination?

U Ut # 80% faemf «ifast &, 70% vama= # 3Iiivf gu, wafe
15% faemdf 3= fawat & sritof gui afe 3=t fawat & S<iof 8=
arat fendf #t "= 325 8, ot 719 Fiow e & 937 a9 FA
faendf &1 = fFa-t 4t 2

(A)500  (B)400  (C)300 (D) 600
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/17. In an examination 40% of the students failed in math, 50% o?
the student failed in English, 30% of the students failed in Hindi. If
25% of the students failed in Math and English, 15% of the
students failed in English and Hindi and 22% of the students failed
in Math and Hindi and 13% of the students failed in all the three
subjects Math, English and Hindi, then find the percentage of
students who passed in all three subjects.

TP U H 40% BT 7Tf0Id # %d 8T, 50% BT S0 d bhd g¢ ayT
30% 17 fe<! § W gUI afe 25% BTF Tivd 9 3 H d 8T,
15% BT SFaw d 'ﬁmgazmm g Tforg o

§U1 Tfe 13% BT a1 fawal & % gy, dt di=1 fawal & o gu o
ST Ufa=rd 1 H3
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18. In an examination, 54% of the candidates passed in science
and 42% failed in mathematics. If 32% failed in both subjects,
what percentage passed in both subjects?

P TeT # 54% faendf oy & S<iivf gu ok 42% faemdf wfor
# argitol gul afq 32% faendt g1 fawal F srg<divf gu ot fva=

yferera faemdf =1 fawal # S<divf gu 2
(A) 56% (B) 48%
(C) 32% (D) 44%
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19. In an examination, 48% of candidates passed in science and
56% failed in mathematics. If 32% failed in both subjects, then
what percent passed in both subjects?

us wien #, fage 7 48% U g3, 56% Nford & % gul afe gl
fawal d 32% faendt e gu af =1 fawal & Siivl faendi &t S@n
RIGE 2 &

(A) 24% (B) 32%

(C) 28% (D) 22%
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20. In an examination, 53% of the candidates failed in science

and 48% failed in mathematics. If 40% failed in both subjects,

what per- centage passed in both subjects?

P Udem H, 53% faendf fag= & ik 48% wfora & sr=iivf gl
afg 40% faemif =1 fawat & sr=iiof gu ot fpaa ufawra e
g1 fawal # I<ff gu 2
(A) 51%
O ELL
(C) 49%

\_ (D) 43%




